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Section : Quantitative Techniques and Data Interpretation

Options 1 1};5
2. 5/6
3. 2/3
4. 1/5

Q1 A management institule bus 6 sendor professors and 4 junior professors, 3 profesion ane
selected M ramdom for a government projed. The probabillity thal 21 keast one of the jumlor
profiessors woubd gt selected is:

Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :

: Not Answered

Chosen Option :

Status

MCQ
41652912408
41652948461
41652948458
41652948459
41652948460

rée bamga lar bos 7
Options | 3411 _ g o7
2. 4B0-90 +
3. 380-90 7
4. 480« 180 =

Q2 A mectangular bow of widthial, kemgilvlbh, and beizhifc) has a salid oylinder of beight ‘o amd
of diameter ‘a’ placed within i If a=6, b=8 and ¢=10, how enoch volume is I=ft in the

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912404
41652948443
41652948444
41652948442
41652948445
Answered

2

Q.3

same distange = :
Options 1 15.12:11
2. 12:10:13
3 10:20:30

The speeds of ¥ cars in the ralio 5: 4 : & The ratio between the Bme aken by them 1o travel




412:15:10

Question Type : MCQ
Question ID : 41652912384
Option 1 ID : 41652948364
Option 2 ID : 41652948363
Option 3 ID : 41652948362
Option 4 ID : 41652948365
Status : Answered
Chosen Option : 4
Q4 P ttal volwnse of seaps sold is 680 lakhs units, The volameof Lux sold is 13 Likh units.
If the percentspe of Lifebooy sald is MPs, Camay 10F, Lirll 5% and Mysore Sandal 10f.,
anever Uhe following questinns,
s H\
oo %ﬁ
Loy ™y o
L .-'"...- &M‘}‘s |
by urul oy
e ____-"'
What is the nearket slsare of othersin pervenlage points T
Options
1 16
2. 13.5
3. 168
4. 15
Question Type : MCQ
Question ID : 41652912392
Option 1 ID : 41652948395
Option 2 ID : 41652948397
Option 3 ID : 41652948396
Option 4 ID : 41652948394
Status : Answered
Chosen Option : 4
Q5 Rajesh can check the quality of 1000 liems in 5 bours and Hakesh can complete the 75% of
same jobr in 3 heurs. Dlow much time s required for both of them bo check 1300 ems, if
Rakesh slops checking after 2 howrs *
Options 1. 1 hour
2. 3 hours
3. 2hours
4. 4 hours
Question Type : MCQ
Question ID : 41652912397
Option 1 ID : 41652948417
Option 2 ID : 41652948414
Option 3 ID : 41652948416
Option 4 ID : 41652948415
Status : Answered
Chosen Option : 2




Q.6

Im & buil ding there are 3l cylindrical pillars. The radies of each pillaris 5 cmand height is
S Fine ot the eost of paimting the corved sad e of half the momber of pilllars, The rate

of painting is Ks. 100 per m?.

Options 1 Es. 1650

2. Rs, 16,500
3. Rs. 4125
4. Rs. 8250
Question Type : MCQ
Question ID : 41652912399
Option 1 ID : 41652948424
Option 2 ID : 41652948423
Option 3 ID : 41652948425
Option 4 ID : 41652948422
Status : Answered
Chosen Option : 1
Q7  If fix)=2*—dx+p and fi) and {1} are of oppasite signs, then which of the Fallowing is
necessarily troe *
Optlonsl. = p <2
2 0<p<3
3. =2 p< 1
4. —F<p=0
Question Type : MCQ
Question ID : 41652912400
Option 1 ID : 41652948426
Option 2 ID : 41652948429
Option 3 ID : 41652948427
Option 4 ID : 41652948428
Status : Answered
Chosen Option : 2
Q8  Three solid cubes of gides 1 cm, & e and 3 cm are melted Do form o mew cube. Find the
suirfioe area of theculse so formed,
Options
PHONS 1. 529¢cm
2. 486 cm
3. 729cm
4. 125 em
Question Type : MCQ
Question ID : 41652912394
Option 1 ID : 41652948405
Option 2 ID : 41652948403
Option 3 ID : 41652948402
Option 4 ID : 41652948404
Status : Answered
Chosen Option : 2

Q.9




It gnsls Ka WHEP- ancd Ha. b, 000 respactively o paind the 4 walls of 2 sgquane lealls, of the
sanie leeighl 1F ihe length of coee hall esoeeds the lenglh of the other by T e and the cost of
paindingg is Bs, 5 piecssgm,, whatis the haight of the two walls T

Options 1 75 1y

michlle number 7
Options

2. 5m
3 3m
4. 10m
Question Type : MCQ
Question ID : 41652912386
Option 1 ID : 41652948372
Option 2 ID : 41652948371
Option 3 ID : 41652948370
Option 4 ID : 41652948373
Status : Answered
Chosen Option : 2
Q10  Theangle created by two hands of a dock when the clock shows 5.20 M. is :
Options ¢ 15
2. @lF
3. AP
4. 40°
Question Type : MCQ
Question ID : 41652912402
Option 1 ID : 41652948435
Option 2 ID : 41652948437
Option 3 ID : 41652948434
Option 4 ID : 41652948436
Status : Answered
Chosen Option : 4
Q11 Ui length, breadth and helght of a rectangulir culseld are inthe ratio 1 : 223, I the length,
Brcadib and height arc licrcased by 100 cah Ebon v hal sl be the ingee s in e valuse
of the culsaid ?
Options 1. 7 imes
2. B imes
3. O Hmes
4. 10 Hmes
Question Type : MCQ
Question ID : 41652912403
Option 1 ID : 41652948438
Option 2 ID : 41652948439
Option 3 ID : 41652948440
Option 4 ID : 41652948441
Status : Answered
Chosen Option : 2
Q12 Tlve sum of threw consecutive odd numbsers is 20 more than the First ommber. Wit is te




1. Data irﬂdequate

Chosen Option :

2.9
3. 7
4 1
Question Type : MCQ
Question ID : 41652912395
Option 1 ID : 41652948409
Option 2 ID : 41652948407
Option 3 ID : 41652948406
Option 4 ID : 41652948408
Status : Answered
Chosen Option : 2
Q.13 Shndentsina commerce cliss book a besk. The average soore of men i 7 aned of women is 33,
The class average is The Whad is ihe ratio of men bowomen in the clas 7
Options 1. B: 7
2. 7:8
3. 7:6
4. §:7
Question Type : MCQ
Question ID : 41652912405
Option 1 ID : 41652948449
Option 2 ID : 41652948448
Option 3 ID : 41652948447
Option 4 ID : 41652948446
Status : Answered
Chosen Option : 3
Q.14 There are & lazks and & persons, Tasks cannol ke assigmed either io person 1 or person 2,
Lask 2 mpusl b assigoeed (o cither person 3 or peson 4. Every person is o be asigned one
task, In hows mawy ways can the assignment b dome 7
Options
PIONS1. 144
2. 360
3. 192
4. 180
Question Type : MCQ
Question ID : 41652912398
Option 1 ID : 41652948418
Option 2 ID : 41652948421
Option 3 ID : 41652948420
Option 4 ID : 41652948419
Status : Not Answered

clisirilulsamn 7
Options 1. 09739

Q.15  What is the area covered by a bellshaped curve from — 6 sigma 1o + b sigma in nommal




2. 99.99%
3. 99.9999%
4. 99 %9606

Option 1 ID

Option 3 ID
Option 4 ID

Question Type :
Question ID :

Option 21D :

mMCQ

41652912401
: 41652948430
41652948431

: 41652948432
: 41652948433

Status :
Chosen Option :

Not Answered

Q.16  If nne third of ane-fourth of a number i 15, then three-lenth of that number is :
Options 1. 3§
2. 61
3. 4
4 54
Question Type : MCQ
Question ID : 41652912391
Option 1 ID : 41652948391
Option 2 ID : 41652948393
Option 3 ID : 41652948390
Option 4 ID : 41652948392
Status : Answered
Chosen Option : 4
Q17  What is the probability of drawing a king or a heart from a deck of cards 7
Options ]J'IIEI
2. 4/13
3. 17 /15
4. 1713
Question Type : MCQ
Question ID : 41652912387
Option 1 ID : 41652948377
Option 2 ID : 41652948375
Option 3 ID : 41652948376
Option 4 ID : 41652948374
Status : Answered
Chosen Option : 2

Q.18 I asimmliamenus Ui of a pairod dice, find U probability of getting a tolal of %o more.
Options 1 E,-"?

2. 512

3 2/36

4. 5/18




Question Type : MCQ
Question ID : 41652912389
Option 1 ID : 41652948385
Option 2 ID : 41652948384
Option 3 ID : 41652948383
Option 4 ID : 41652948382
Status : Answered
Chosen Option : 4
Q19 e fallawing table Hats the marks of seven sludenls(rows] of & elass acioas sin
subjeiseolumns). The Nambes in he parenthesds indicate the mavisem marks of the
subjt concemed. Use the datain ibe table b answoer the question that follows
English Firsdi Hislory Mrsics Wathe  |[Chewdviry
{150} {130 L] L] [LILY] {10
Maya ] 5 a0 L] m ]
Arva it &0 L] il B it
Hiva w Tz FL] ] | o
Sreva 55 5 ] B0 1] ]
Koopasl L8| &% L1 A 5 k.1
Chussdeid m FE] L] LL] 0 &l
Harish L] . ] %0 ” L] ]
Whio s the topper of the class T
Options 1 M},ﬂ
2. R]}'ﬂ
3. Roopesh
4. Maya
Question Type : MCQ
Question ID : 41652912396
Option 1 ID : 41652948411
Option 2 ID : 41652948412
Option 3 ID : 41652948413
Option 4 ID : 41652948410
Status : Answered
Chosen Option : 1
Q20 wihat vabue should come in place of question mark (7 in the follow ing equation ?
36047 + 4500 = 19700 - 900
Options ;. M5
2. 95
3. 345
4. 225
Question Type : MCQ
Question ID : 41652912385
Option 1 ID : 41652948367
Option 2 ID : 41652948368
Option 3 ID : 41652948369
Option 4 ID : 41652948366
Status : Answered




l Chosen Option : 4
Q21  plow many minudes dives Mr, Surva fake locover a distance of 500 m i e rans al a speed of
23 kny'hr ¥
Options 1 35 cp
2. 8 sec
3. F2sec
4. 6l sec
Question Type : MCQ
Question ID : 41652912390
Option 1 ID : 41652948387
Option 2 ID : 41652948389
Option 3 ID : 41652948388
Option 4 ID : 41652948386
Status : Answered
Chosen Option : 3
Q.22 . i .
The masdmum value of 3 cosx+ 4 sinx +8 is ;
Options 7
2. 15
3 3
4. 13
Question Type : MCQ
Question ID : 41652912393
Option 1 ID : 41652948400
Option 2 ID : 41652948399
Option 3 ID : 41652948398
Option 4 ID : 41652948401
Status : Answered
Chosen Option : 4
Q.23  Inatrasgle ABC, ALY isthe bisecior of angle A If AC=42cm, DC =6 cm, BC =10 cm, find
A
Options 1 2.8 ~m
2. 34em
3. 29cm
4. 27 cm
Question Type : MCQ
Question ID : 41652912388
Option 1 ID : 41652948379
Option 2 ID : 41652948380
Option 3 ID : 41652948381
Option 4 ID : 41652948378
Status : Answered
Chosen Option : 1

Q.24




Thu speed of 2 boaod in dill waleris 5 kemdfler, I 6 bakoes Lhrice a0 meoch Eme @nogoisg 20 kim
wpsiresm & in gring the same distance downstream, find L speed of the stream,

Options 1. 35 kmjllhl

2. 45 km/hr
3 25 km/hr
4. 55 km/hr
Question Type : MCQ
Question ID : 41652912407
Option 1 ID : 41652948455
Option 2 ID : 41652948456
Option 3 ID : 41652948454
Option 4 ID : 41652948457
Status : Answered
Chosen Option : 3
Q.25 Two aranges, three bananas and four apples cost Ba 15, Three oranges, two bananas aed
aene apple cosl Ke 10, 1 booghi 3 oraeges, 3 bananas and 3 apples. How much did | pay ?
Options 1 Es. &
2. Cannot be determined
3. Rs. 15
4. REs.10
Question Type : MCQ
Question ID : 41652912406
Option 1 ID : 41652948451
Option 2 ID : 41652948453
Option 3 ID : 41652948452
Option 4 ID : 41652948450
Status : Answered
Chosen Option : 2
Section : Logical Reasoning
Q1  ¥irection:
In Ehee Following gwestion a stslemenl is glven followed by two argaments choose Lhe comect
uption.
Slatement ; Shoulbd ihe political pardies be banned ?
Argumand 11 Vo, I8 is necessary io boack 2 lossen 1o the politicuans
Argumenit 2 P i willl besad woean end of demwcracy
options ;- Neither (1), nor (11) is strong,
2. Both the arguments are strong
3. Unly (11} is strong
4. Only (I) is strong,
Question Type : MCQ
Question ID : 41652912427
Option 1 ID : 41652948535
Option 2 ID : 41652948534
Option 3 ID : 41652948537
Option 4 ID : 41652948536




Status : Answered

Chosen Option : 3
2 . -
°2  Which word does not belong with the others T
Options 1. Pupi]
2. Cormnea
3. Retina
4. Vision
Question Type : MCQ
Question ID : 41652912433
Option 1 ID : 41652948561
Option 2 ID : 41652948559
Option 3 ID : 41652948560
Option 4 ID : 41652948558
Status : Answered
Chosen Option : 4
Q3 Find the odd one out of given combinations :
opionsy TUWY
2. ABDF
3. NOOS
4. GHM
Question Type : MCQ
Question ID : 41652912409
Option 1 ID : 41652948465
Option 2 ID : 41652948462
Option 3 ID : 41652948464
Option 4 ID : 41652948463
Status : Answered
Chosen Option : 4
Q4 Painting at Ankit, Shruti said, “kis Ealleer is the only son of my prandfsther” Haw is Ankil
related 1o Shnati 7
Options ) - Brother
2. hlothor
3. Sister
4. Daughter
Question Type : MCQ
Question ID : 41652912421
Option 1 ID : 41652948510
Option 2 ID : 41652948512
Option 3 ID : 41652948511
Option 4 ID : 41652948513
Status : Answered
Chosen Option : 1




Q5 Inihke following quedtion bebow, 3 stabemends I, 1 and 1 are glven You are required o
e ot wlhich of ihe given stalementis) B sefficient le anvwer e question,
How aldd was Deepa om 3Rh Ok docher TS 7
(I} Devpamb ,----:-Hn (haiy ber nister Mralda
(i Prabha is 29 yrs younger than her mother
(I} Devpa’s mother celebraticd her 45 birthday on July 27 2006

OPtons 1. {I1) and (IL)

2. (T} and (111}
3. {I) and (IT)
4. AL, (I} and (OT)
Question Type : MCQ
Question ID : 41652912413
Option 1 ID : 41652948480
Option 2 ID : 41652948481
Option 3 ID : 41652948478
Option 4 ID : 41652948479
Status : Answered
Chosen Option : 4
Q-6  Imacertain code BIPPLE is written o 613552 andl LIFE B writlen as #1928, [ow is PILLEK
writlen i Hial code 7
Options ; 18876
2. 312688
3. 31828k
4. 61BE2H
Question Type : MCQ
Question ID : 41652912415
Option 1 ID : 41652948486
Option 2 ID : 41652948489
Option 3 ID : 41652948487
Option 4 ID : 41652948488
Status : Answered
Chosen Option : 1
Q7 Choose the necessary for the given word.
“Swimming”
Options 1 Suit
2. Pool
3. Life jacket
4. Water
Question Type : MCQ
Question ID : 41652912420
Option 1 ID : 41652948507
Option 2 ID : 41652948506
Option 3 ID : 41652948509
Option 4 ID : 41652948508
Status : Answered
Chosen Option : 4
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Q-8  ln sums way 123 mrears “he is talentod”, 1456 means “lalonled penple caen more”, 45678
means “penple sam mare 1o enjay”, Then what is egqual to “earn™ ¥
Options; g
2. 7
3. 4
4. B
Question Type : MCQ
Question ID : 41652912410
Option 1 ID : 41652948467
Option 2 ID : 41652948469
Option 3 ID : 41652948466
Option 4 ID : 41652948468
Status : Answered
Chosen Option : 1
Q9 pisection :
In the following question a stalemend 5 given followed by two conclusions. Choose the
correcl option.
Sabement
Any stadent wha follew un-ethical practices in examimation disqualifies himself from
enamimatiomg
Cionchus bon
(1) These whe evwodve inoun-ethical practions in essmination shall be debared
(1 Examirotion svstem shoukd be improved
Options ;- Oy Conclusion (1) follows
2. Neither Conclusion (T) or (I} follows
3. Only Conclusion (1T} follows
4. Both Conclusion (T} and (I} follow
Question Type : MCQ
Question ID : 41652912426
Option 1 ID : 41652948530
Option 2 ID : 41652948532
Option 3 ID : 41652948531
Option 4 ID : 41652948533
Status : Answered
Chosen Option : 1
Q10 p¢ JAPAN is coded KCSES, then the code of CASTLE will be .
Options 1. LEKMSGR
2. DCVXOK
3. DIKREDF
4. DIJOBT
Question Type : MCQ
Question ID : 41652912414
Option 1 ID : 41652948484
Option 2 ID : 41652948485
Option 3 ID : 41652948483




Option 4 ID : 41652948482
Status : Answered
Chosen Option : 2

Q11  jn analogy, vou are required io puess the relafion bebween e fwo given words and fill in
the blank after findiag the similar relationship by choosing any word from the oplions
given below
Hien : Chisck = Frog :

Options 1. Tad Pﬂ-li'_‘

2. Fawn
3. Kitten

4. Fupp}r

Question Type : MCQ
Question ID : 41652912417
Option 1 ID : 41652948495
Option 2 ID : 41652948497
Option 3 ID : 41652948494
Option 4 ID : 41652948496

Status : Answered

Chosen Option : 1

Q12 Find the missing number in the series below :
24, 28, 30, 4,
1 35
2. 36
3. 40

4. 38

Options

Question Type : MCQ
Question ID : 41652912411
Option 1 ID : 41652948472
Option 2 ID : 41652948470
Option 3 ID : 41652948473
Option 4 ID : 41652948471

Status : Answered

Chosen Option : 2

Q13 1y the following question, the malnstatensent ks Follawed by four sentences. Selext the palr
of meilsies sl ivlats logically b the given stal ot
Either Uhe emplovess have no confidence in the mamapement ar ey are hostibe by natare.
A. They are hostile by nabwre
B.  They are not hastile by natare
C They have conflena in the munpenmen|
B They have poconfidenos in Uhe mamgemsnt

Options 1. DA
2. BA
3. CB

4. BD




Question Type : MCQ
Question ID : 41652912425
Option 1 ID : 41652948528
Option 2 ID : 41652948526
Option 3 ID : 41652948527
Option 4 ID : 41652948529
Status : Answered
Chosen Option : 1
Q14 Akshay and Ajay ane irlends study ing in same class. Ajaycould ol soore as mch marks as
Abzhay seoved and henee Ajay’s fallsr ok Ajay inte task. Ajay seplinad that bhes are w0
mamy Hke me in the class. Based on the inf ormation findoul the answer 10 the question =
Akzhay ranks 13th inthe dass where 33 students are studying, There are 5 stwdents beow
Ajay mankwize
liover many students are there between Akshay and Ajay ©
Options 1 15
2. 16
3. 14
4. '12
Question Type : MCQ
Question ID : 41652912423
Option 1 ID : 41652948519
Option 2 ID : 41652948518
Option 3 ID : 41652948520
Option 4 ID : 41652948521
Status : Answered
Chosen Option : 4
Q.15 [n the following guestion. a group of four figures Following certain sequence is given as
problem Ngurec. Problem Ggures are fallwed by apollr group of four Rgures knewn as
answer figeres marked (Bl (21 (3, @) Find oat the figare from i amswer figures whish
w bhen placed mexd 1o the problem figares will continus the sequence of the problem figeres
Frodlem Egare : Answer liguee
W= =] |[L|=[=
g (p— A— —
(L] 2 3 )
Options ﬂ}
N L
2. [4)
3. {1}
Question Type : MCQ
Question ID : 41652912429
Option 1 ID : 41652948544
Option 2 ID : 41652948545
Option 3 ID : 41652948542
Option 4 ID : 41652948543
Status : Answered
Chosen Option : 1

Q.16

Options | Fluto

Which word doesnot belong with the others 7




2. Cello

3. Guitar
4. Viplin
Question Type : MCQ
Question ID : 41652912419
Option 1 ID : 41652948503
Option 2 ID : 41652948505
Option 3 ID : 41652948502
Option 4 ID : 41652948504
Status : Answered
Chosen Option : 2
Q17 Kasd the following infarmation carefully 1o answer the questions plven balow i
fa) A +B mcans thatl " A" s the father of ‘B
{B} ‘A B means that " A" is the wile of "B
(£} “A=B meansthat "A" is the brother of "B
i) A+ B means that *A” is the doughter of "B
If it i given P+ R+ 54 OF, then which of the following is true 7
options 1. Qs the aunt of T
2. Pis the aunt of O
3. Pis the mother of Q
4. Pis the daughter of {}
Question Type : MCQ
Question ID : 41652912428
Option 1 ID : 41652948540
Option 2 ID : 41652948539
Option 3 ID : 41652948541
Option 4 ID : 41652948538
Status : Answered
Chosen Option : 2
Q.18  Wasishis started walking pasitioning his back lowards the san. After somelime, Vasishia
tarned keft, the turmned dghd, and then towards left again. Which is the direction Yasishta is
Boing mow 7
Options 3 Naorth or West
2. North or South
3. South or West
4. East or West
Question Type : MCQ
Question ID : 41652912432
Option 1 ID : 41652948556
Option 2 ID : 41652948554
Option 3 ID : 41652948557
Option 4 ID : 41652948555
Status : Answered
Chosen Option : 2

Q.19




Far the Assertion (A} anl Reason (R) given below choose the comect allematine from the
following :

(A} Copperis used to make eboctric wise

(K): Copper has very bw elocbne resisbanoe

Options ) - (A} is true, (R) is false

2. (A} is false, (R) is true
3.

Both (A) and (R} are true and (R) is not the correct explanation of (A)
4.

Both (A) and (R) are true and {R) is the correct explanation of (A)

Question Type : MCQ
Question ID : 41652912412
Option 1 ID : 41652948476
Option 2 ID : 41652948477
Option 3 ID : 41652948475
Option 4 ID : 41652948474

Status : Answered

Chosen Option : 4

Q.20  |nithe given Figure, if the cenlres of alll the drcles are joined by horizmntal and vedical lines,
then fknd Ehe mumber of squares thal can be formed

|

#
o o,

(ALY

Options 1.

Question Type : MCQ
Question ID : 41652912430
Option 1 ID : 41652948549
Option 2 ID : 41652948546
Option 3 ID : 41652948548
Option 4 ID : 41652948547

Status : Answered

Chosen Option : 3

Q.21  There are fovur Teves = Lemon, Coooml, Mangn and Mewwn each al a differenl comer of a
rectangiilis plol A sell s localed 6 ome corner anid & cabin 8 another corner. Lemon and
Cogonul irees are on either side of the gate, which is located at ihe cendre of skde, opposite (o
the side. extremes of which the well and cabinm are Iocated The mango tnee i not at the
cornee where Uhe calein e lecabed

Which of the follvwing pairs can be dugonally opposiie 10 each other in ihe plo 7
OPtions ;. Wango tree and Well

2. Cabin and Meem lree

3. Meem tree and Lemon tree
4. Coconut tree and Lemon tree

Question Type : MCQ
Question ID : 41652912431




Option 1 ID : 41652948552
Option 2 ID : 41652948551
Option 3 ID : 41652948550
Option 4 ID : 41652948553
Status : Answered
Chosen Option : 3
. el i swllabie re f e Lhie &nsver meai replace the quesmon mark {7
Q22 gofeci i sultable Migure From th figuares that would he questi ek (7).
Problem figune - Answer BpEune :
k T, - Yy o 1 -
l T l b 7 | & 2 W
£ 0 4 4 T <
' : W ®m 9 o
Options 1 A
2. B
3. D
a C
Question Type : MCQ
Question ID : 41652912422
Option 1 ID : 41652948514
Option 2 ID : 41652948515
Option 3 ID : 41652948517
Option 4 ID : 41652948516
Status : Answered
Chosen Option : 1
Q.23  If Xisx the brotkerof ¥ and I, Z is the mother of ¥ and (3 is the father of X, which cne of the
Fal lowing stabenend is ol clefinitely broe 7
Options 1 % jg the brother of P
2. 7 is the wife of
3. X is the son of
4. X 15 the father of F
Question Type : MCQ
Question ID : 41652912416
Option 1 ID : 41652948490
Option 2 ID : 41652948492
Option 3 ID : 41652948491
Option 4 ID : 41652948493
Status : Answered
Chosen Option : 4

Q24  In amalogy, you are required b guess the function relation between e two given words

and fined the similar relstion between the words given in any of the optian
CUP:LIN=BRD:
OPtions 1. FOREST
2. GRASS
3. BUSH

4 BEAK




Question Type : MCQ
Question ID : 41652912418
Option 1 ID : 41652948500
Option 2 ID : 41652948501
Option 3 ID : 41652948498
Option 4 ID : 41652948499
Status : Answered
Chosen Option : 4
.25 T . :
Q The missing term in the series 2,1, 1/2,1/4,
Options 1. -1;'-16
2.1/8
3. 1/3
4.2/8
Question Type : MCQ
Question ID : 41652912424
Option 1 ID : 41652948525
Option 2 ID : 41652948523
Option 3 ID : 41652948522
Option 4 ID : 41652948524
Status : Answered
Chosen Option : 2
Section : English Language Comprehension
Comprehension:
Rewd e lolboweng paccage and aowes the gueadion Ehal follews |
An larguape is enc that s lkedy o boconss extinet in the noar future,  Many
R e LalB gt ot oo i ] iy, mepadod T othirs Uhat are niete w Klelly usond in the seghon
o nation, suchias Englishinikbs U ar Spanishin bedon, Lnkss cursent tnivadpand revoniod, Bk
wralanyricd il Dsinier entined | wilhin Uher peead ooty Many ol lnlg.ﬂ:nmmr
hﬂ'iﬁwhugiwrml by e gpmserations of childeen or by rew sdull ; these languages will
bocnimee extimet wihen their Ll speaker dies. Infact, dozens of languages Ioday haes only one native
speaker still living, and that person's death will mesn the extinction of the language : It will ne
Rowriggeer Tt iipnkecons, o ko, by S,
Ancaeel Gereek and Latin Lainguagos ane considensd doad bocauss Brey ane oo leager speken in the
fowrm i whibch we find them (0 skt writings. Bt they weren't abrupaly replaoad by olher
largasges ; indfedd, Anciend Leeck slewly evelied inte modem Lroch, arad Latin alowly ovodood
o rimdewrn Malia i Spaniah, Fivach, Bosandarn, aind olher hﬁuﬁ;.ﬁ. L e manirine wiary' Ui Bl
Ensglish of Chasscer’s day s ro longer spoken, bt il has svolved inde Modorn English
SubQuestion No : 1
Spanish language evolved oul of
Options 1 [atiry
2. Greek
3. English
4. French
Question Type : MCQ
Question ID : 41652912437
Option 1 ID : 41652948572
Option 2 ID : 41652948571
Option 3 ID : 41652948570
Option 4 ID : 41652948573




Status : Answered
Chosen Option : 1

Comprehension:

Rewd e lolboweng paccage and aowes the gueadion Ehal follews |

An kirguage is ene that @ liksly b0 booons oxtingl in the near future, Many

R e LalB gt ot oo i ] iy, mepadod T othirs Uhat are niete w Klelly usond in the seghon
or nation, sushas Englishiin e LS or Spaniihiin Moo, Lnkess cursent tnivad kan: neveniogd, S
evulaigpivd Langaapes will Do eatinel within Ui sl oemliery. Many o Languages ago mo
lnngper et bearnad by neww gemerations of childeenor by revwe sdult speakiors ; thess nguages will
bocnimee extimet wihen their Ll speaker dies. Infact, dozens of languages Ioday haes only one native
speaker still living, and that person's death will mesn the extinction of the language : It will ne
Towrgyer bt epvkcns, o konanw, by o,
Ancsed Grock end Latin languagos ane considonsd doad bocawss they ane oo kevger spoken in the
fowrm i whibch we find them (0 skt writings. Bt they weren't abrupaly replaoad by olher
languaass ; indlead, Andiend Lreck sknwly ovelved inke modem Girock, and Latin i
inbo ptmoderry Halia i Spandah, French, Romanian, aid obher Lunguages, En b saime way', Uhe biddle
Ensglish of Chasscer’s day s ro longer spoken, bt il has svolved inde Modorn English

SubQuestion No : 2
Q.2

“These languages will become extinet ...."
In the above sentence “these” refers o :
Options 1. Other Ia.nguage-&

2. Endangmd languagr:s

3. Spamsh in Mexion

4. Middle English

Question Type : MCQ
Question ID : 41652912436
Option 1 ID : 41652948569
Option 2 ID : 41652948567
Option 3 ID : 41652948566
Option 4 ID : 41652948568

Status : Answered

Chosen Option : 2

Comprehension:
Rewd e lolboweng paccage and aowes the gueadion Ehal follews |

nﬂmﬁdhuﬂﬁamdﬂ-ﬂhﬁhhﬁmﬂmﬂ.hlh‘mﬁmm Many
T Hluardhﬂgrtp&rﬁlhy Mlﬂwmh%undhhw
l:lrmm Hxh#lﬂmmm L5 ar Bpanishiin besdon, Lok current tnivad fans neveniod, S
evulaigpivd Langaapes will Do eatinel within Ui sl oemliery. Many o Languages ago mo
lnngper et bearnad by neww gemerations of childeenor by revwe sdult speakiors ; thess nguages will
bocnimee extimet wihen their Ll speaker dies. Infact, dozens of languages Ioday haes only one native
speaker still living, and that person's death will mesn the extinction of the language : It will ne
Towrgyer bt epvkcns, o konanw, by o,

Ancsed Grock end Latin languagos ane considonsd doad bocawss they ane oo kevger spoken in the
fowrm i whibch we find them (0 skt writings. Bt they weren't abrupaly replaoad by olher
languaass ; indlead, Andiend Lreck sknwly ovelved inke modem Girock, and Latin i
inbo ptmoderry Halia i Spandah, French, Romanian, aid obher Lunguages, En b saime way', Uhe biddle
Ensglish of Chasscer's day i no longer spodom, bt i has evolved into hndorn English

SubQuestion No : 3
23 What is endangered language ?

Options The languape that is not spoken by anyone at all
2. The language that is spoken by many people




3. Alanguage that is most likely to expand in the near future
4. A language that is most likely to die in the near future

Question Type : MCQ
Question ID : 41652912435
Option 1 ID : 41652948563
Option 2 ID : 41652948562
Option 3 ID : 41652948565
Option 4 ID : 41652948564

Status : Answered

Chosen Option : 4

Comprehension:

Head tbse Fallosying pactage and anvwer D guestisn Lhal Follwes,

There are no Wodd Teade Organisation (WTO) definitbons of “developed”™ amnd “developing™
coumitries. Membors anmosnee o ihemeebors whother thoy are “doveloped™ or “dovel opdng ™
orinddes. Hovrever, other mombars cam challenge the decisbon of o membor Lo ma ke useof provisions
availalble bo developing oo nirie.

§ COunery “iutus bn the WO Brirg s cortain righis. There ane foresamphe provisions
in ssme WTO Agrevman s which provide diveloping courtris with lonper e on ponods beforn
they are roquend te fully implement the agreoment sed developisgg counbries cam recvive tochnacal
aasdatare,

That a WLk pwenbor sewnewncss Escli o s developiog, countny divst ot aubeenaically moan
Ehaat it vl Benedit Bt the wndlateral prolonomes schiomos of seee of B dovdiped soanboy asralen

such as the Goneraliaed Sy siem of Preferenos (05F) Iy precioe, it B e profennos giving counirny
whibch deviclios 1B fet off dm!q.ﬂmyumm

SubQuestion No : 4
Q4 Who decides whether one country is developing or developed ?

Options ; Thpa neighbouring countries
2. The World Trade Organization
3. The countrv itself

4. The preference giving country

Question Type : MCQ
Question ID : 41652912439
Option 1 ID : 41652948575
Option 2 ID : 41652948574
Option 3 ID : 41652948576
Option 4 ID : 41652948577

Status : Answered

Chosen Option : 3

Comprehension:

Head tise fallowing pastage and answer Le guestisn (hal Follows,

There are nao Wadd Teade Orgamilsation (WTO) definilsons of “developed™ and * developing™
cousiries.  Membors anmoance e themeeiors whether they are “developed™ or “develoging™
orindees. Hovreyer, odher mombons cam chalenge the docicon of a eeseribor Loma ke wseof prossions
available to developing countrics.

Disoedtnpiinyg sounery wivtus bn the WO Brirgs certain righis. Theee ane foreamphe procisons
in semne WO Agreomenis which provide diveloping oouritriss with bonper I on ponods bolora
they are roquencd 1o fully implemont the apreoment el developing cownbes can roocive echnacal
assdatarme,

That & WDk aaeenber sovounds issell o 3 developing country dodst nol suleenatically moan
Ehai it weill benedi Eres the anilsieral profonomes schomes of seee of B dovedoped eouniny nsaiben
sch as the Generaliaod Sestem of Preferenos (G5F), I practioe, it is the prefenmos giving country

which decidlos tbe let off deeloping coantres
SubQuestion No : 5

Q5  Why would a country likes to announce itself as a developing country ?




Options ) - 563 that it need implement WTO agreements
2. 5a that it can become member of WTO

3. So that it can become the pr:}fc-mnc-u:- giving country

4.
So that it gets some relacation of ime in implemenation WTO agreements

Question Type : MCQ
Question ID : 41652912441
Option 1 ID : 41652948583
Option 2 ID : 41652948582
Option 3 ID : 41652948585
Option 4 ID : 41652948584

Status : Answered

Chosen Option : 4

Comprehension:

Head tbse Fallosying pactage and anvwer D guestisn Lhal Follwes,

There are no Wodd Teade Organisation (WTO) definitbons of “developed”™ amnd “developing™
coumitries. Membors anmosnee o ihemeebors whother thoy are “doveloped™ or “dovel opdng ™
orinddes. Hovrever, other mombars cam challenge the decisbon of o membor Lo ma ke useof provisions
availalble bo developing oo nirie.

Diewedirpiing counery iutus bn the WO Brirg s cortain righis. There ane foresamphe provisions
in ssme WTO Agrevman s which provide diveloping courtris with lonper e on ponods beforn
they are roquend te fully implement the agreoment sed developisgg counbries cam recvive tochnacal
FLLSRT Y

That a WLk pwenbor sewnewncss Escli o s developiog, countny divst ot aubeenaically moan
Ehaat it vl Benedit Bt the wndlateral prolonomes schiomos of seee of B dovdiped soanboy asralen

such as the Goneraliaed Sy siem of Preferenos (05F) Iy precioe, it B e profennos giving counirny
which decidlos tbe let off deeloping coantres

SubQuestion No : 6

Q.6  Whncan change the decision of a couniry bo make nse of provisions available to developing
conun iries 7

Options ) The preference giving country
2. The World Trade Organization
3. Any neighbouring country

4. Any member country of WTO

Question Type : MCQ
Question ID : 41652912440
Option 1 ID : 41652948581
Option 2 ID : 41652948578
Option 3 ID : 41652948579
Option 4 ID : 41652948580

Status : Answered

Chosen Option : 4

Comprehension:




Head ther fodlowing passapge and amswer ihe gquesion that follows,

Whena child is born, hier fimsl comnection o the world s cstablished theough her mother, or in
a v b e, b pamerits. A infam sevs the world thrmigh hee pasenit’s eves ; shee ies o imbile
wvaryibing she recognices n Fer parents. Thes, o pareni-child relaBonshap Lays the foundatien of
the “building of her k', DParcnging is the bringling up of a chikd, 11 is like the nourishement that i
crecessany fora sapling o grow ntoa g and froful tree. Henoe, for achilld o gross ino o wonderful
burnae boing, good panenling is sssontial,

Farenting sty les vary from culfure o cultune. The workd & abig place comprising of a vanety
of prophe haning diffennt ways of livieg, Although culsurs i :I-'- Koy ingrodhent, the scanom
sitastion aned standard of living, alio have an impact an parenting, Whils there are a common sl ol
waluwes imd Blorend culiunes like horsesty: anad integrity. ter vahie sysieen slands disided on some ol
ther enagor facets of parencing, exemplified by the comparieon of the Tndian stele widh that of the
Wl

SubQuestion No : 7
Q7 parenting here is compared to :
Options 1 [ noking after a pet
2. Maintaining a vehicle

3. Maintaining a relationship
4. Nourishing a plant

Question Type : MCQ
Question ID : 41652912445
Option 1 ID : 41652948595
Option 2 ID : 41652948596
Option 3 ID : 41652948597
Option 4 ID : 41652948594
Status : Answered
Chosen Option : 4
Comprehension:
Head ther fodlowing passapge and amswer ihe gquesion that follows,
Whena child is born, hier fimsl comnection o the world s cstablished theough her mother, or in
a v b e, b pamerits. A infam sevs the world thrmigh hee pasenit’s eves ; shee ies o imbile
cvoryibing che in ber parents. Thes, 3 pareni-child relaBonship lays the foundsbon of
the “building of her k', DParcnging is the bringling up of a chikd, 11 is like the nourishement that i
crecessany fora sapling o grow ntoa g and froful tree. Henoe, for achilld o gross ino o wonderful
husnsn being, gosd panenting b ssseniial,
Farenting sty les vary from culfure o cultune. The workd & abig place comprising of a vanety
of prophe huning diffennt ways of livieg, Although culture i the ey ingrodient, the aconom
ﬂmaﬂﬂmﬂ;ﬂdlimyhhhwnmmmmm Wwhile there are o comvmen sl ol
waluwes imd Blorend culiunes like horsesty: anad integrity. ter vahie sysieen slands disided on some ol
ther enagor facets of parencing, exemplified by the comparieon of the Tndian stele widh that of the
Wl
SubQuestion No : 8
Q8 Parenting is basically :
Options; - Culture independent
2. Common across all cultures
3. Culture dependent
4. Counlry independent
Question Type : MCQ
Question ID : 41652912444
Option 1 ID : 41652948591
Option 2 ID : 41652948593
Option 3 ID : 41652948590
Option 4 ID : 41652948592
Status : Answered




l Chosen Option : 3

Comprehension:

Head ther fodlowing passapge and amswer ihe gquesion that follows,

Whena child is born, hier fimsl comnection o the world s cstablished theough her mother, or in

J.Iwu-.hfu:ml;.h'«qumt Aur bl amt sevs by u'ﬂ!dlrrcuﬁhhﬂfanﬁ:a}n:ﬂh—hhhmhﬂil

in ket parents.  Thes, a parcni-child relaBonshdp lays the fournda ien o
h‘iﬂﬂmdhrﬁl Parenting is the bringing up of a child. 1t is like the nourshment that s
crecessany fora sapling o grow ntoa g and froful tree. Henoe, for achilld o gross ino o wonderful
husnsn being, gosd panenting b ssseniial,

Farenting sty les vary from culfure o cultune. The workd & abig place comprising of a vanety
of propht having diffenmt ways of lving, Although culkure i the key ingrodhent, the ecanomo:
wibnakiw aned standard of living alss have an impact on ing, Whibs thore aro o comvmen sl ol
wallues i difforend ouliuwnes like hoesiy and integrity. e valie sysiom slambs divided on some of
ther enagor facets of parencing, exemplified by the comparieon of the Tndian stele widh that of the
Wl

SubQuestion No : 9
Q9 Which of the fullowing is a major differentiator an some of the major Facels of parenting ?
Options ) yzlue system
2, lntmgn:ty
3. Honesty
4. Love

Question Type : MCQ
Question ID : 41652912443
Option 1 ID : 41652948589
Option 2 ID : 41652948587
Option 3 ID : 41652948586
Option 4 ID : 41652948588

Status : Answered

Chosen Option : 1

Comprehension:

Bl the fnllawing passage and answer the quistian that follines,

Speve Jobs won anmigrea. He was quisky. Twould ke g0 shame a fow Tifle knoon facts absoat
thir ey whar prctly awvach changesd the workl with ene senall locheslagncal deace,

St Joks Hleod b wiark bare fool foven whals i sosparate envinmments and daring millon
dallar nepgotistions). Hi wis veganand ofton weel on it where hi wossld only oal erange things,
Hle wasa fom Begldhist aimd catommively ravelied [ndia during kis youtle, He nis sucha pefoctonis
Lhﬂﬂm'rnarnidmm}ud ey Ternibnee dn his Bessse st all becaisse ho ooadd nob diocide
what o by, He used o read his favourile book of all e, every yoar * Autoblography of a
voigi” by Paraen hanesa Wiogananda. This oram was niol aifrakd bo be *Remembering that [l e
e woon, B i1Re miosl imposatant b, T s enooen bessd mh«lpmn‘u Ihll:ﬂ,u_d'rulrﬂmhr-.
Aot everything - all exterral expectations, all pride, all fear of crabarresmend or failure . these
things just fall avway in ke face of dea th beaving, only whal b reely important™

Tehs, usad do say “Hemenbering that you ane poing 1o dio is the beat way | kaenw lo void the
trap of thinking you heve something o kee. Yow are alnesdy maked. There §s oo resson pel o
Fellony vomr hoart, Mo ane wariiode, Even people who wants o go o heaven, & nol wani o dis
b ot bhere, Al i, death i the deslination, wie sll share. Mo oo has over cecaped i, and Baltia
hew i abeubd b, bevause death o very Bloely U single best invention of life. 1 is lils's change
ageat. 1t clears oul the obd lo makoe way for the raw.”

SubQuestion No : 10
Q10 “Remembering that you are going to die, is the best way [ know ... .~ Lin this line is:

Options 1 The author of the article
2. Stewve JTobs

3. An}r manager
4. The narrator in the arbicle

[ Question Type : MCQ




Question ID : 41652912449
Option 1 ID : 41652948606
Option 2 ID : 41652948608
Option 3 ID : 41652948609
Option 4 ID : 41652948607
Status : Answered
Chosen Option : 2
Comprehension:
Bl the fnllawing passage and answer the quistian that follines,
Steve Jobswan an migees. He was quisky. Twoukd Hike i share a fow Ditle known facts abeat
thie eaet w b prctly et changed the warld with one senall locheslogcal doace,
Speve Jobs Moad 1w wark bare fool jrvon whads in eorparate envimonments and darisg millon
dollar nepotistions]. He wes vepanand often weel on divls whero he wold only cot arange tkings,
Hle wasa fom Begldhist aimd catommively ravelied [ndia during kis youtle, He nis sucha pefoctonis
tha Hm'ru'u-a!'uluu! wiwer e P nes Turmibnee in his Beasee st sl becasss he oould nob docide
what o by, He used o read his favourile book of all e, every yoar * Autoblography of a
voigi” by Paraen hanesa Wiogananda. This oram was niol aifrakd bo be *Remembering that [l e
diead sonn, teike most impoeatand bool, e cverenosen bessd o belp me mrake the big choces in like,
Aot everything - all exterral expectations, all pride, all fear of crabarresmend or failure . these
things just fall avway in ke face of dea th beaving, only whal b reely important™
Taba, umod o ddy “Rensenbering thal vou ane peing b die i the beil way | kaeny 1o svoid the
trap of thinking you heve something o kee. Yow are alnesdy maked. There §s oo resson pel o
falloar vour hoark. Mo ans wastt inds, Even poopbs who wants (o go b hodven, &5 nol wanl b de
b g Bhaorr, Al e, e th i e deslinatior, woe all dbare. Mo oo has over csoapod i and Baalia
hew i abeubd b, bevause death o very Bloely U single best invention of life. 1 is lils's change
ageail. 18 clears ot the old o make way foe the rew™
SubQuestion No : 11
A1 —_
1 This passage lells us
Options &
P 1. Steve Job's life story.
2. Steve Job's business management skills.
3. Bome not very well known facts.
4. Very well known facts about Steve Jobs.
Question Type : MCQ
Question ID : 41652912452
Option 1 ID : 41652948620
Option 2 ID : 41652948621
Option 3 ID : 41652948619
Option 4 ID : 41652948618
Status : Answered
Chosen Option : 3

Comprehension:

Bead the follo wing passage snd anawer the question thal follnes,

Speye Jobsl wor amenigrea. He was quisky. Twould like soshane a fow Tifle knoomn Gt absoat
thir eaiey wha protly riach changed the warld with one senall lecheslagneal deace.

e Jobs hked 1 ek bare foaod firvom whale @ aveporats savimmmen s ane] daring, milksn
dallar epotistions). Hirwas vepanand oflon weal on dists whero b wol d oaly sal arange tings,
Hie was a fem Bugldhisa -Mmﬁmﬂﬂdu&uh;h}mh Hir wwars. suscha prerloctivmisl
thai Hm'rnajﬂmd wiwen b had ne furnibnee in his Beasse st alll becasss he oould nob docide
wihat o by, He used booread his favowrile book of ol Hme, oeery voar * Autobiography of a
vogi . by Paraenhanesa Yopananda. This sram was niol alifrakd bo be *Remembering thad Pl e
dhencl sonn, e ibe most impoeatand beol, Tee everonosen besnd o belp me mrake the big choices in life,
Al everything - all eaxernal expeckatsons, all pride. alll fear of covbarrcamond or failore . these
things jusl lall avway in he fooe of death, beaving, only whal b reely important™

Jobs, umend o sy~ Remeenbering that you ane going o dic is the beat way | kneny o avoid the
trap of thinking you heve something o kese. Yow are slnesdy naked. There §s mo ressan, ol o
fallow vour hoark. Boane wasis iod, Even poople who waets ta go o heaven, da nol wani o de
bo et theonz, Al wird, death i the destination, wie all share. Mo ore has over cscapod i, end Baatis

b i sbubd b, bevause datls 5 very Blody Uir single bt fvention of B, W is lile's clhange
agenit. 18 clears out ihe old jo make way foe the rewe ™




SubQuestion No : 12
12 11 the passage which one of the following in not true ?
Options ;- Dieath is the single best invention
2. Look for death
3. Noone escapes the death

4. Death is the destination

Question Type
Question ID
Option 1 ID
Option 2 ID
Option 3 ID

Status

: MCQ

: 41652912450
: 41652948612
: 41652948613
: 41652948611
Option 4 ID :

41652948610

: Answered
Chosen Option :

2

Comprehension:

Bl the follo wing, passage snd anower the questian that follnes

Sewe Jrdw wak anoenignsa. Hee vt quisky. Twoukd ke o chane o fow Tifle kndmon facts absot
the ey wiha pretly madh changed the warld woth o denall locheslagncal deace,

Steve Jobs Bl o wark bare fool evon whals @ mﬁmmm-m ﬂ'nl'lntl‘r‘-l‘!'l
diallar pepotiskions). Hi wis vepanand ofton weel en dists where hi wosdld only oa arange things
He was a Fem Buddhist o ml extesdeoly travedied [ndia during bis yooth, He s such o perfoctionist
thal thene was a perand wien he had no Temitoree in his bouse at all berausr he oould nod docide
wihat o by, He used booread his favowrile book of ol Hme, oeery voar * Autobiography of a
vogi . by Paraenhanesa Yopananda. This sram was niol alifrakd bo be *Remembering thad Pl e
dhencl sonn, e ibe most impoeatand beol, Tee everonosen besnd o belp me mrake the big choices in life,
Al everything - all eaxernal expeckatsons, all pride. alll fear of covbarrcamond or failore . these
things jusl lall avway in he fooe of death, beaving, only whal b reely important™

Tehs, usad fo say “Remenbering that you ane going o dic is the beit way | knenw lo ivoid the
trap of thinking you heve something o kese. Yow are slnesdy naked. There §s mo ressan, ol o
Fellony vour heart. Boane waritio dae, Even people who want o go to heaven, da nol wani i die
bo et b, Al wird, death i the desbination, we all share, Mo oo has over cscapesd i, aod Ehaltia
b i sbubd b, bevause datls 5 very Blody Uir single bt fvention of B, W is lile's clhange
agenit. 18 clears out ihe old jo make way foe the rewe ™

SubQuestion No : 13

Which of the following stalement is false ?
Steve Jobs had no furniture at his house because :

Q.13

OPtions 1 He was a perfectionist

2. He wanted to |:ﬂ1}? fhel:rn:r!m:t furnitune

3. He could not decide what to buy

4. He had ne money

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912451
41652948615
41652948617
41652948616
41652948614
Answered

4

Comprehension:




Biradl the folbowing pussage and andwer the questian thal fallines,

Spewe Jobs wan anmigrea. Hewas quisky. Twoukd Hke g5 shame o few lifle knoon facts absoat
thie ey whar oty mwadh changsd the workd woith one senall lchesloynical deace,

Stwvn Jobs Hkod b wiark bare (ool feven whals i corparabe envinmments and daring millsn
dallar pepotistions). Hawas veganand ofton wenl on divts where he wosld only oad orangs things,
Hle was o fen Bedd hind aml extormbvely travelied India during bis youth, He wis sucha peifoctamist
that Em'ru'll-.i:l'ulrun! wiwer e P nes fernibuee in hie Bessse ot gl becasse he ool nob docide
what o by, He used o read his favouriie book of alll tene, overy yoar * Autoblography of a
wiogd" by Maraenhanesa Vo narsdia. This oram wias not allfrakd bo be “Remembering, thad [l be
doad won, i1 ke mosl impoealand boad, T cerenooumbesnd mlﬂpmmb umm-nn
Al everything - all exterral expectations, all pride, all fear of crabarresment or fadlure . Ehese
things ju=l fall avway in (ke face of death, leaving, only whal b reely impotanl™

Taba, umsd do say “Hensenbering that you ane peing o dio is the beat way | kaew o void the
trap of thinking you have something o kee. Yow are alnesdy makesd. There §s oo rogson ol o
Falliny yomur hioart. Bo e wariiio da, Even people who wants Lo go to hoaven, da nol wani o dis
b ot bhre, Al il death i the deination, wie sll sbare, Mo oo has over cocaped i, aod Buatia

harr i aboubd b, brvaue death b very Bloely e single best investion of Be, 1 is life's change
ageail. 1fclears out the obd fo make way foe the rew”

SubQuestion No : 14

Q14 Steve Jobs believed in:
Options | Altruism
2. Perfectionism
3. Materialism

4. Mormatism

Question Type :
Question ID :
Option 1 ID :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
41652912448
41652948605
41652948603
41652948602
41652948604
Answered

2

Comprehension:

Barad the folbowing possame snd anawer the questian thal follines,

Sy b wor anenigrea. Hewss quisky. Twould like g sham o fow Rtle knomm Tacms absual
thir gaiey wiha prclly aiach changed the wiarkd with oms senall locheslajoeal dease,

MManﬂkmmewhhhmmmmumﬂmm
dallar pepotiskions). Hiwas veganand ofton weel on dists where he wold oaly o3 arange things
He was a Fon Budd hisi iﬂmwh'wrdhhlhghb}ﬂulh He s such a pefoctmis
Ll'l.i'lﬂm'ﬂnlajﬂﬂHhuhhdmfunnmlnhlmnlﬂ.hﬂmrh?mﬂdmdmdr
wilat o by, He used booread his favoariie book of afl dme, overy voar * Autobiography of a
vogd s by Paraenhanea Yopananda. This oram was niol allfrakd bo be *Remembering thad Pl b
denl a0, =i st imporatand beol, Tee everenoseniessd o belp me make the g chodoes in lifie,
Al everything — all eacerrall expockations, all peide. all fear of cosbarresmend or failoee . these
things sl lalll avway in (ke faoe of death, braving only whal b reely impofant™

Taba, ussd fo say “Henwnbering that you ane peing: 0 dio is the beit way | knerw o avoid the
trap of thinking you henve something to kse. Yow are slresdy makesd. There §s o rogsan ol o
Pallow wour hoark, Bo ane waris indie, Even poople whi waets ba go o heaven, do nol wani o de
bo et bhwr, Al il death i the destination, we all sbare, Mo oo has over escaped i, aod Euatia

b i sbaubd b, bevaune dheatl B veny By e single best ivention of B, W is Lile's chaisge
ageait. 18 clears oot the old io make way fne the pewe™

SubQuestion No : 15
Q15 ‘The passage is wrilten in:
Options ;1 Third person narrative
2. Multiple person narrative
3. Second person narrative

4. First person narrative




Question Type : MCQ
Question ID : 41652912447
Option 1 ID : 41652948599
Option 2 ID : 41652948600
Option 3 ID : 41652948601
Option 4 ID : 41652948598
Status : Answered
Chosen Option : 1
Q.16 . A §
Select the grammetically correct sentence from the following :
Statements ;
Options 1.
Alhvough be failed in that Mathomatics, bul he seceived a degree in Engirecring.
2.
Although he had failed in Mathematics, he received a degree in Engineering.
3.
Although he had failed in Mathematics, that he received a degree in Engineering,
4,
Although that he failed in Mathematics, but he received a degree in Engineering.
Question Type : MCQ
Question ID : 41652912459
Option 1 ID : 41652948649
Option 2 ID : 41652948648
Option 3 ID : 41652948647
Option 4 ID : 41652948646
Status : Answered
Chosen Option : 2
Q17 (haoose the closesl meaning of the proverbfidiom :
To leave someone in the lurch.
Options ;T leave someone to his/her fate
2. Tomake someone comifortable
3. To holp someone in difficulties
4. To respect someone
Question Type : MCQ
Question ID : 41652912456
Option 1 ID : 41652948636
Option 2 ID : 41652948635
Option 3 ID : 41652948637
Option 4 ID : 41652948634
Status : Answered

Chosen Option : 1

Q18 & primafacie case is:

OPYoNS ) As it seems to the court after a number of hea rings

2. Agit turns out to be at the end

3. As 1t seems at first sight




4. As it is made to seem at first sight

Question Type : MCQ
Question ID : 41652912462
Option 1 ID : 41652948661
Option 2 ID : 41652948660
Option 3 ID : 41652948658
Option 4 ID : 41652948659
Status : Answered
Chosen Option : 4
Q19 ‘I folbawing sestence is underlined and marked as section A, B, C and 1. Show which
seciiom conlains an ermor,
(a) i) ]
Options ;. I:‘:i
2 (B)
3. (D)
4. (A)
Question Type : MCQ
Question ID : 41652912460
Option 1 ID : 41652948652
Option 2 ID : 41652948651
Option 3 ID : 41652948653
Option 4 ID : 41652948650
Status : Answered
Chosen Option : 2
Q.20  The fullowirg are jumbled up parks of a senlence. Rearrange Uhem in 2 proper sequence -
P oid he realize
Q: helped by a man
R:  that be had beon
S5: e never respected
Options 1. ERQP
2. QRPS
3. PRUS
4. PORS
Question Type : MCQ
Question ID : 41652912455
Option 1 ID : 41652948630
Option 2 ID : 41652948631
Option 3 ID : 41652948633
Option 4 ID : 41652948632
Status : Answered
Chosen Option : 3

Options 1 AIEIJ;]CI‘&{Z}?

Q.21  From ihe opisons given bebow choose the comect substilube for the underlimed word :

Demwscracy b of thee peopbe. by the people and for the people. However, ogovernmend pun
by a few is dangerows for arepablic like India




2. Aum:':a::y

3. Dligarchy
4. Monarchy
Question Type : MCQ
Question ID : 41652912457
Option 1 ID : 41652948640
Option 2 ID : 41652948638
Option 3 ID : 41652948641
Option 4 ID : 41652948639
Status : Answered
Chosen Option : 4
Q22 {hwwwe the comect part of words in fill in the blinks,
The insteucior skl the simdents 1o work the gliven sam in the now book amd
hamd it b i for oo mection
options ;  aut, away
2. on, OvVer
3. pul, over
4. away, in
Question Type : MCQ
Question ID : 41652912458
Option 1 ID : 41652948643
Option 2 ID : 41652948644
Option 3 ID : 41652948642
Option 4 ID : 41652948645
Status : Answered
Chosen Option : 2
Q23 the fallowing ssvtemce, what deoes the underlined phess mean?
A good ieacher is ome who sees (o § Uhal a stadest doees nol waste lime i reinventing e
ahesl
Options , * waste Lime in imaginary things
2. doing something, that has already been done
3. repeating oneself
4. waste time on unnecessary delails
Question Type : MCQ
Question ID : 41652912461
Option 1 ID : 41652948657
Option 2 ID : 41652948656
Option 3 ID : 41652948654
Option 4 ID : 41652948655
Status : Answered
Chosen Option : 2

Q24 (Chanse the ward that is closesl in meaning to the ward :

ABRIDGL

Options




VAR PAVER]

TILLYD /LU LLDIVILLUIT [ NEIT YL L[ PUN/ LU0/ LUULITIDLUIIT/ADDTIDINITHILYI LT IVILIMIVUCT L)/ LVOOULIIV/LVOOULIOVIOLU LI T L[ L.,

1. Understand
2. Shorten
3. Join
4. To fill the gap
Question Type : MCQ
Question ID : 41652912454
Option 1 ID : 41652948629
Option 2 ID : 41652948628
Option 3 ID : 41652948627
Option 4 ID : 41652948626
Status : Answered
Chosen Option : 4
Q25 (hoose the correct word that is opposite in meaning to the word :
PACIFY
Options 1 Em:muag::
2. Appravale
3. Discourage
4. Sloww down
Question Type : MCQ
Question ID : 41652912453
Option 1 ID : 41652948623
Option 2 ID : 41652948624
Option 3 ID : 41652948625
Option 4 ID : 41652948622
Status : Answered
Chosen Option : 1
Section : General Awareness
Q1 pebenture holders of a company are its :
Options
PUONS 1 Debtors
2. Share holders
3. Directors
4. Creditors
Question Type : MCQ
Question ID : 41652912465
Option 1 ID : 41652948671
Option 2 ID : 41652948670
Option 3 ID : 41652948673
Option 4 ID : 41652948672
Status : Not Answered

Chosen Option :

Q.2




Whikch couniry has secured member one spol in the latest FIPAs woaorld mnkings released on
25" O, 2078 7

Options ;. ﬂ:gmt:ina
2. Belgium
3. France

4. Brazil

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Question Type :
Question ID :

mMCQ

41652912469
© 41652948689
: 41652948687
- 41652948686

: 41652948688
Status :
Chosen Option :

Not Answered

%3 Which one of the following is credit rating agencies in India ?

Optionsll MIX
2. BARC
3. CARE
4. SEBI

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
41652912476
41652948716
41652948717
41652948714
41652948715
Not Answered

Q4  'Fhe Chabahar part being developed by India to gain access o Central Asia is located in

wihich of the Following countries 7

Options ;. Saudi Arabia
2. IIEHi
3. hmnan

4. Tran

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912480
41652948731
41652948730
41652948732
41652948733
Not Answered

5 The foundation of modemn education syslem in Imdia was Jaid by

Options




1. The Hunter Commission of 1882
2. Wood's Despatch of 1854

3. Macaulay’s Minutes of 1835

4. The Charter Act of 1813

Question Type

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

41652912487
41652948761
41652948759
41652948758
41652948760
Not Answered

Q6 Where is the world’s highest altitude post office located ?

Options 1 Gik-kim
2. Bern
3. Port Lmﬂtm}'

4. Mew [-Iampslure

Status

Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :

: Not Answered

Chosen Option :

MCQ
41652912485
41652948750
41652948752
41652948751
41652948753

Q.7  Which of the follmwing is wot susde of onlise money tramsfer in Liclia Uirough enline

Tranding ?
Optionsll IMPS
2. RTGS
3. [FSC
4. NEFT

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

: Answered

Chosen Option :

MCQ
41652912471
41652948696
41652948695
41652948697
41652948694

2

Q8  The first Indian LT, Company to reach 100 billion dollar market capitalicstion is :

Options 4 TCS
2. Cognizant




3. hEnﬁ}rs

4. Wipro
Question Type : MCQ
Question ID : 41652912478
Option 1 ID : 41652948723
Option 2 ID : 41652948725
Option 3 ID : 41652948722
Option 4 ID : 41652948724
Status : Answered
Chosen Option : 1
29 The Person behind a wonderful concept “Van Mahotsav” ;
Opti 5
PUOnS 1. A K. Munshi
2. KLM. Munshi
3. AK. Simha
4. k.M. Upadhava
Question Type : MCQ
Question ID : 41652912470
Option 1 ID : 41652948692
Option 2 ID : 41652948693
Option 3 ID : 41652948691
Option 4 ID : 41652948690
Status : Answered
Chosen Option : 2
Q10 The term’ double fault’ is associated with :
Options ¢ Squash
2. Long Jump
3. Tennis
4. Rugby
Question Type : MCQ
Question ID : 41652912467
Option 1 ID : 41652948678
Option 2 ID : 41652948681
Option 3 ID : 41652948680
Option 4 ID : 41652948679
Status : Not Answered
Chosen Option : --

Q11 Which one of the following wavesfrays are used in common T.V. Remote control 7
Options ) pnfrared
2. Ultrasonic

3. Laser
4. Badio wawves




Question Type : MCQ
Question ID : 41652912483
Option 1 ID : 41652948744
Option 2 ID : 41652948745
Option 3 ID : 41652948743
Option 4 ID : 41652948742
Status : Answered
Chosen Option : 1
A2 . . i m 5
Q Whe among the following heads GST' council in India ?
Options L
PUONS 1. The Trade Minister
2. The Commerce Minister
3. The Prime Minstor
4. The Finance Minister
Question Type : MCQ
Question ID : 41652912481
Option 1 ID : 41652948736
Option 2 ID : 41652948737
Option 3 ID : 41652948734
Option 4 ID : 41652948735
Status : Answered
Chosen Option : 4
Q13  Consider e following sixiements regarding oo ourrenls.
(1) The ket fsking grounds of the workd exel mainly in the miodng sones of warm and cold
oOCaN CLETeni
(3 Gravity is one of lacler inffuencing ackan darnnls
Icentehy e ool stade mnents
Options | {1] only
2. (1) only
3. Both (1) and (2) are incorrect
4. Both (1) and (2) are correct
Question Type : MCQ
Question ID : 41652912484
Option 1 ID : 41652948747
Option 2 ID : 41652948746
Option 3 ID : 41652948749
Option 4 ID : 41652948748
Status : Answered
Chosen Option : 3

Q14 papwhich novel did bndion movelist Aravind Adiga win the prestigions Man Booker Prize 7

OPtions ) The Inheritance of Loss
2. The White Tiger
3. The God of Small Things
4. Midnight's Children




Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

MCQ
41652912468
41652948682
41652948683
41652948685
41652948684
Not Answered

Chosen Option : --

Q.15  The Mew institution that i= now playisg the mmle akin ts erst while planning commission of
Inclias is 2
Optlons 1. N]T] ﬁaj?DE
2. Strategic Policy Group
3. Swacch Bharath Mission
4. National Security Council
Question Type : MCQ
Question ID : 41652912463
Option 1 ID : 41652948662
Option 2 ID : 41652948664
Option 3 ID : 41652948663
Option 4 ID : 41652948665
Status : Answered
Chosen Option : 3
Q.16  The train accident that killed &1 people walching Dossera Celebrations in M8 happened at
whach place
Options i
P 1. Chennai
2. Patiala
3. Bangalore
4. Amritsar
Question Type : MCQ
Question ID : 41652912475
Option 1 ID : 41652948712
Option 2 ID : 41652948711
Option 3 ID : 41652948713
Option 4 ID : 41652948710
Status : Answered
Chosen Option : 2
Q17 jndlin and which eountry have agreed bo wnaderkako Ui Indas Water Treaty boars inthe bndus
basin i baoth gides to resolve issoes on the vamoas ydooebeciric propects 7
Options 1. Chi
2. Pakistan
3. Bangladesh
4. Afghanistan

Question Type : MCQ




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

41652912464
41652948668
41652948667
41652948669
41652948666
Answered

2

Q18 ywhat is the full form of NPCI?

options ;- hano Center for Political Integration
2. National Council Process Interaction

3. Matinnal Fa:,rmntq. Cnrpmaﬁm of India
4. Matipnal Public Control of India

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912474
41652948706
41652948708
41652948707
41652948709
Not Answered

B The CRRin banking parlance means the following :

Options ) Cyrrent Reserve Ratio
2. Cash Reserve Ratio

3. Corporate Reserve Ratio
4. Custom Reserve Ratio

Question Type :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

MCQ
41652912479
41652948726
41652948727
41652948729
41652948728
Answered

Chosen Option : 1

ATMOSIMIEKE :

(1) Convention i imporkant in beasing the s Lipors of the atowsphae,
(2 The conventbon tranafer of energy is confined only o the broposphere.
(3 oo’ B the sutoome of advection process.

Bdentity the cormect stabemenits :

Options | (2) and {3) only

2. All (1), (2) and {3) are incorrect
3. All (1), (2) and {3) are correct
4. (1) and (2} only

Q20  Cansider the lollowing stalements regarding HEATING AND COOLING OF




Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
41652912486
41652948755
41652948757
41652948756
41652948754
Answered

1

2 Who among the following is not conferred Bharath Ratna ?

OPtions ;- Atal Bihari Vajpayec
2. Melson Mandela
3. Sachin Tendulkar
4. Kapil Dev

Question Type
Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

: MCQ

: 41652912472
: 41652948699
: 41652948700
Option 31D :

41652948698

: 41652948701
: Answered
Chosen Option :

2

Q2?2 Which of the following countries is not a member of SAARC ?

options ;  Bhutan

2. Myanmar

3. Maldives

4. Alghanistan

Chosen Option :

Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :

Status :

MCQ
41652912466
41652948675
41652948677
41652948676
41652948674
Answered

3

Q.23  The majnr nation that anmounced the withdrawal from Paris climate change accord im 2007

W
Optionsl. SI:HJI'L
2. Germany

3. &ri Lanka
4. United States of America

Question Type : MCQ
Question ID : 41652912473
Option 1 ID : 41652948702




Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

41652948705
41652948704
41652948703
Not Answered

Q24 Who among the Following is NOT associated with billiards in India ?
OPtions ;- Subash Agarwal
. Manoj Kothari
. Mihir Sen
4. Ashok Shandilya

N

w

Question ID
Option 1 ID

Option 3 ID
Option 4 ID
Status

Question Type :
: 41652912477
: 41652948721
Option 2 ID :

MCQ

41652948718

: 41652948719
: 41652948720
: Not Answered
Chosen Option :

Q.25  Tlwe respiomsibriliies of esiablisbing and maintainang ssiound and ef ficient Acoonnting and
Financial Reporting system in India iz vesled imthe hands of -
Options 1. RBI

2. The Comptroller General of Accounts
3. NITTAYOG

4. Finanoe Ministry

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912482
41652948738
41652948739
41652948740
41652948741
Answered

1




